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Define	slope	intercept	form	in	math

Meaning	of	slope	intercept	form.	What	is	slope.intercept	form.	What	is	slope-intercept	form	in	math.	What	is	an	example	of	slope	intercept	form.

(4,	8);	m	=	\	(\	fraud	{3}	{4}	\)	Answer:	y	ã	¢	â‚¬	-	y1	=	m	(x	ã	¢	âgn	/4	(x	â‚¬	-	4)	and	ã	¢	â‚¬	-	8	=	3/4	(x	ã	¢	â‚¬	-	4)	Question	10.	Answer:	copy	of	precise	and	complete	the	table	with	two	solutions.	Answer:	Given	the	equation	y	=	500x	15000	ã	¢	â‚¬	â	€	œ3000	=	12000	12000/4	=	3000	mnatural	=	500	3000>	500	Therefore,	the	artificial	waterfall	has
a	greater	flow.	Answer:	x	and	y	are	not	in	a	proportional	relationship	because	the	line	does	not	pass	through	the	origin.	Choose	tools	find	a	wheelchair	ramp	at	the	school	or	neighborhood	of	it.	4x	+	2y	=	-12	Answer:	4x	+	2y	=	-12	2y	=	-12	ã	¢	â‚¬	-4x	y	=	-6	ã	¢	âgn	33.	How	can	the	distance	of	the	automobile	of	Phoenix	be	determined	after	11	hours?
Answer:	Pjan	=	6500	pmay	=	17,500	pmay	¢	â‚¬	-	Pjan/5	¢	â‚¬	-	1	=	(17,500	ã	¢	â‚¬	-	6500)/4	=	11,000/4	=	2750	Question	40.	Answer:	M	=	(Y2	¢	â‚¬	"y1)/	(x2	ã	¢	â‚¬:	x1)	=	(4	â‚¬	-6)/	(-3	ã	¢	â‚¬"	(-7))	=	-2/	4	=	-1/2	and	ã	¢	â‚¬â	€	œ	y1	=	m	(x	â‚¬	"x1)	and	ã	¢	â‚¬	â	€	œ	(2)	=	-1/2	(x	â‚¬	-(	1))	and	ã	¢	â‚¬â	€	œ	2	=	-1/2x	+	1/2	y	=	-1/2	x	+	5/2	Question
27.	x	=	ã	¢	â‚¬	-4	Answer:	the	grace	Fico	of	x	=	ã	¢	â‚¬-4	is	a	vertical	line	that	passes	(-4,	0)	draws	a	vertical	line	through	this	point.	Graph	the	linear	equation	with	slope	-5	and	intersection	and	0.	Question	5	.	Find	the	slope	and	the	intersection	of	the	grass	of	the	linear	equation.	Y	=	9	which	is	shown	in	the	graph?	Since	Egunta	21.	Answer:	Try	the
slope.	of	the	line.	y	=	ã	¢	âgn	You	run	for	50	seconds.	Answer:	y	=	-4000t	+	B	where	B	is	the	original	price	18,000	-4000	(3)	+	B	18,000	+	12,000	=	b	b	=	30,000	y	=	-4000t	+	30,000	Write	an	equation	write	an	equation	in	the	form	of	a	timely	slope	of	the	boundary	line	Go	through	the	given	point	and	has	the	slope	given.	The	intersection	of	Y	ã	¢	â‚¬
shows	that	6	movies	are	bought	when	video	games	are	not	bought.	Modeling	real	life	at	0	°	C,	the	volume	of	a	gas	is	22	liters.	Question	1.	The	line	x	=	0	has	pending	=	indefinite	and	are	vertical	lines.	y	=	\	(\	fraud	{3}	{2}	\)	x	ã	¢	â‚¬	-	\	(\	fraud	{1}	{2}	\)	Answer:	Find	the	missing	values	​​in	the	relationship	table.	What	do	you	know	about	the
proportion	of	y	a	x	for	some	point	(x,	y)	in	the	graph	of	x	and	y?	1.3y	+	5.2	=	-3.9x	Answer:	Given	equation	1.3y	+	5.2	=	-3.9x	1.3y	=	-3.9x	ã	¢	â‚¬	-5.2	y	=	-3x	ã	¢	â‚¬	â	€	â	€	œ4	Question	8.	Answer:	The	graph	represents	a	proportional	relationship	because	it	is	linear	and	goes	through	the	point	(0,	0)	(0,	0),	(2,	8)	m	=	(8	â‚¬	"0)/(2	ã	¢	‚¬"	0)	m	=	8/2	m
=	4	The	equation	is	y	=	4x	Question	12.	Answer:	(x1,	y1)	=	(-5,	-4)	(x2,	y2)	=	(1,	-3)	m)	=	(y2	¢	âgn	))	M	=	1/6	Question	13.	(-3,	-2)	G.	How	long	do	you	spend	writing	the	paper?	The	number	and	new	words	of	vocabulary	that	you	learn	after	x	weeks	is	represented	by	the	equation	y	=	15x.	Answer:	Given	the	equation	y	=	3.5x,	the	line	obtained	by
translating	the	grass	of	the	line	y	=	3.5x	above	2	units	has	the	same	slope	(3.5)	e	and	ã	¢	â‚¬:	intercepts	2	large	units,	what	means	b	=	0	+	2	=	2	Question	10.	Answer:	18	inches	=	1.5	feet	mmc	=	ascend/run	=	(8	â‚¬	-	1.5)/(12	â‚¬	-	1	ã	¢	â‚¬:	1)	=	6.5/10	=	0.65	AD	=	1	mmc	=	Cr/mr	=	(8	â‚¬	-	1)/(12	ã	¢	â‚¬	-	1	ã	¢	â‚¬	-	1)	=	7/10	=	0.7	The	slope
increases	from	0.65	to	0.70	because	the	increase	increases,	while	execution	remains	the	same.	y	=	ã	¢	â‚¬	â	€	œ	\	(\	fraid	‚¬"	y1)/(x2	ã	¢	âgn	Ã	¢	â‚¬-y1	=	m	(x	â‚¬	"x1)	and	ã	¢	âgn	1	=	1/4	(x	+	4)	Question	12.	y	=	2.25x	+	3	Answer:	y	=	mx	+	b	pending	=	2.25	e	and	â‚¬	â	€	œIntercept	=	3	Question	18.	Find	and	interpret	the	slope	of	the	line.	x	=	ã	¢
âgn	Passing	(-0.5,	0)	Draw	a	vertical	line	through	this	point.	You	can	learn	simple	tricks	to	solve	problems	with	the	help	of	great	mathematical	ideas	Answers	Grade	8	Chapter	4	GRISHING	AND	ELDERLY	OF	LINEAR	EQUATIONS.	Answer:	m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬	-x1)	=	(-1	ã	¢	â‚¬	-5)/(1	ã	¢	â‚¬	-(	-1)	)	=	-6/2	=	-3	because	the	line	crosses	the	axis
and	axis	in	(0,	2)	the	intersection	and	is	2	y	=	mx	+	b	y	=	-3x	+	2	Question	7.	(-1,	-4);	M	=	-2	Answer:	and	¢	â‚¬	-y1	=	m	(x	ã	¢	â‚¬	-x1)	and	ã	¢	â‚¬	-(	-4)	=	-2	(x	ã	¢	â‚¬	-(	-(	-(	-(	-(	-(	-(	-(	-(	-(	-(	-(	-	1))	Y	+	4	=	-2	(x	+	1)	Write	an	equation	write	an	equation	in	the	form	of	slope	-intersective	of	the	line	that	passes	through	the	given	points.	4.6	Equations	of
writing	in	the	form	of	slope-intersective	(pp.	Chronic	thinking	that	is	more	steep:	the	ramp	for	boats	or	a	road	with	a	qualification	of	12%.	Translate	the	graph	of	a	proportional	relationship	B	units.	You.	Patina	in	the	line	from	an	elevation	of	720	feet	to	an	elevation	of	750	feet	in	30	minutes.	What	far	from	the	center	is	the	upper	part	of	the	tower?
Question	9.	Solve	the	formula	k	=	3m	ã	¢	â‚¬	-7.	The	equation	y	=	ã	¢	â‚¬	-	2x	+	8	represents	the	quantity	(in	fluid	ounces)	of	the	detergent	of	dishes	in	a	bottle	after	x	days	of	use.	Y	=	4x	ã	¢	â‚¬	-	3	Answer:	Question	2.	Question	16.	Answer:	M	=	(y2	ã	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬	-x1)	=	(-1	ã	¢	â‚¬	-3)/(0	â	‚‚	¬	-(	-3))	=	-4/3	because	y	=	-1	when	x	=	0,	y	ã	¢	ã	¢
¢	ã	¢	ã	¢	â‚¬	"the	interception	is	-1	y	=	mx	+	b	y	=	-	4/3	x	ã	¢	â‚¬-	1	Write	an	equation	of	the	line	that	passes	through	the	given	points.	Write	an	equation	of	the	line	that	passes	through	(0,	8)	and	(((((((((((	6,	8).	Use	the	figure	shown.	=	3	ã	¢	âgn	makes	sense	in	the	context	of	the	problem?	2.5y	=	5x	ã	¢	â‚¬	-	5	Answer:	Given	the	equation	2.5y	=	5x	ã	¢
â‚¬	-	5	y	=	2x	ã	¢	â‚¬	-	2	Question	7.	Reasoning	Write	an	equation	of	the	line	that	passes	through	The	point	(8,	2)	and	is	to	the	graph	of	the	equation	y	=	4x	ã	¢	â‚¬	â	€	œ3.	y	=	-5,	y	=	3	3	Both	lines	are	horizontal	and	have	pending	=	0	Question	26.	Answer:	(x1,	y1)	=	(0,	1)	(x2,	y2)	=	(3,	-5)	m	=	(y2	ã	¢	â‚¬	"y1)/	(x2	ã	¢	âgn	(x,	y)	represent	any	point	in
the	graph	of	a	proportional	relationship.	Y	=	15.	Question	17.	Answer:	y	=	0.5x	+	3	y	=	0.5	(5.25)	+	3	and	ã	¢	â	€	Question	8.	Answer:	Give	D.	Structure	Choose	two	points	in	the	coordinate	plane.	B.	Use	your	exploration	1	result	to	write	an	equation	that	represents	the	balance	after	months.	A	construction	equipment	is	extending	a	barrier	of	road
sound	barrier	13	miles.	=	(2,	-2)	m	=	(y2	ã	¢	â‚¬	-and	1)/(x2	ã	¢	âgn	Find	the	slope	of	the	line	through	the	given	points.	Problem	resolution	The	inclined	tower	of	Pisa	in	Italy	was	built	between	1173	and	1350.	y	=	x	+	1	Answer:	m	=	(-2	ã	¢	â‚¬	"0)/(0	â‚¬"	1)	M	=	2	and	2	and	=	2x	ã	¢	â‚¬	""	2	Therefore,	the	correct	answer	is	Opción	A.	The	slope
indicates	that	the	unit	cost	is	$	0.75	per	ounce.	Answer:	(x1,	y1)	=	(-2,	0)	(x2,	y2)	=	(2,	3)	m	=	(y2	¢	â‚¬-y1)/(x2	â‚¬	"x1)	m	=	(3	â‚¬	"0)/(2	ã	¢	â‚¬-(-2))	M	=	3/4	Question	10.	I	like	it	and,	unlike	the	terms,	definitions,	examples	resolved	|	Difference	between	similar	and	different	terms	of	similar	terms:	definition,	rules,	examples	|	How	do	you	add	similar
terms	to	simplify	polynomials?	Answer:	D	=	Rt	d	=	50r	that	has	the	form	y	=	kx	The	equation	represents	a	proportional	relationship.	y	+	1	=	\	((\	fraud	{4}	{3}	\)	x	Answer:	y	=	mx	+	b	y	+	1	=	\	(\	fraud	{3}	\)	x	y	=	\	(\	fraud	{4}	{3}	\)	x	ã	¢	â‚¬	-Intercept	=	-1	Question	19.	Write	an	equation	that	represents	the	amount	of	money	that	has	raised	after	x
miles.	y	=	mx	+	b	y	=	2	question	11.	there	are	Great	workplace	of	letters	of	letters	in	this	set	where	students	have	to	look	...	Draw	a	line	exactly	through	the	points.	Answer:	m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬:	x1)	=	(60	â‚¬	-70)/(1	ã	¢	â‚¬	â	€	0)	=	-10	/1	=	-10	because	y	=	70	when	x	=	0,	the	intersection	and	is	70	y	=	mx	+	b	y	=	-10x	+	70	slope	=	-10
represents	the	decrease	in	the	speed	of	the	automvile	every	second	after	breaking.	Answer:	m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬:	x1)	m	=	(-5	ã	¢	â‚¬-(-5))/(-5	â‚¬	â	€	œ0)	m	=	0/-5	m	=	0	We	have	to	find	the	y	â‚¬:	interposition	because	y	=	-5	when	x	=	0,	and	the	intersection	is	-5	y	=	mx	+	b	y	=	(0)	x	+	(	-5)	y	=	-5	Question	45.	And	ã	¢	â‚¬	-	7	=	0.5x	Answer:
given	the	equation	and	ã	¢	â‚¬	-	7	=	0.5x	y	=	0.5x	+	7	pending	=	0.5	e	and	ã	¢	â‚¬	â	€	œIntercept	=	7	grape	the	equation	linear.	Answer:	(x1,	y1)	=	(3,	1)	(x2,	y2)	=	(-3,	-3)	m	=	(y2	¢	â‚¬-y1)/(x2	ã	¢	â‚¬	"x1)	m)	m)	=	(-3?	A	chemical	spill	after	x	days	is	represented	by	the	equation	y	=	6x	+	50.	two	projects	for	a	class	for	a	class	for	a	60	minutes.	The
identification	of	slopes	and	intersections	and	finds	the	slope	and	intersection	and	the	gran	of	the	linear	equation.	Answer:	m	=	(y2	ã	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬:	x1)	=	(-1.5	¢	â‚¬	-4.5)/(1	ã	¢	â	‚	¬	"(-1))	=	-6/2	=	-3	and	ã	¢	â‚¬"	y1	=	m	(x	ã	¢	â‚¬:	x1)	and	ã	¢	â‚¬	"(-1.5)	=	-3	(	x	â‚¬	"(1))	Y	+	1.5	=	-3x	+	3	y	=	-3x	+	1.5	Question	24.	Write	an	equation	that
represents	the	number	and	the	remaining	leaves	after	x	weeks.	What	equation	It	represents	the	cost	(in	Damlares)	to	go	to	the	festival	and	choose	x	pounds	of	apples?	The	graphic	of	each	linear	equation	has	an	intersection	x?	Use	this	world	to	draw	another	right	triam,	ã	¢	--â³def,	with	its	most	long	side	in	the	line	B.	(4,	4);	M	=	3	Answer:	and	ã	¢	â‚¬	-
y1	=	m	(x	ã	¢	â‚¬	-	x1)	the	value	m,	the	value	x	and	y	in	the	equation	and	ã	¢	â‚¬	-	(4)	=	3	(x	â‚¬	-	4)	and	ã	¢	â‚¬	""	"4	=	3	(x	â‚¬	-	4)	question	47.	16x	ã	¢	âgn	?	It	is	(0.125,	0)	and	ã	¢	â‚¬	"interception:	x	=	0	16	(0)	ã	¢	âgn	They	refer	to	the	slope	of	a	roof	like	the	tone	of	the	roof.	2x	+	y	=	5	Answer:	2x	+	y	=	5	y	=	-2x	+	5	comparison	of	the	value	value
of	y	=	mx	+	b	m	=	-2	and	b	=	5	grace	and	ã	¢	â‚¬	"intercept	=	(0,	b)	=	(0,	5)	Slope	=	-2	run/assimilant	=	\	(\	fraud	{-2}	{1}	\)	Trace	the	point	unit	0.25	up	and	1	unit	to	the	right	=	(1,	3)	now	Trace	the	points	and	draw	the	graphic	graphic	the	linear	equation	using	interceptions.	What	point	lies	in	the	6x	grass	€	œ1	Answer:	y	=	mx	+	b	pending	=	-1	e
and	ã	¢	â‚¬â	€	œ	intercept	=	-1	question	2.	Answer:	p1	(2,	5)	p2	(3,	10)	m1	=	(10	‚‚	¬	"5)/(3	â‚¬:	2)	=	5/1	=	5	m2	=	(5	âgn	41.	Write	an	equation	that	represents	the	situation.	Complete	the	verbal	model.	Write	and	graph	an	equation	that	represents	the	sale	price	of	an	item	that	has	an	original	price	of	xlares.	(-8,	-5);	m	=	ã	¢	â‚¬-	\	(\	fraud	=	Ã	¢	â‚¬-	\	(\
fraud	The	table	shows	the	lengths	(in	inches)	of	his	hair	months	after	his	last	haircut.	Answer:	(0.0),	(10,	-35)	M	=	(-35	â‚¬	"0)/(10	â‚¬"	0)	=	-35/10	=	-3.5	y	=	-3.5x	C.	Then	graphic	of	the	linear	equation.	y	=	-x	ã	¢	â‚¬	-8	Answer:	Given	the	equation	y	=	-x	ã	¢	â‚¬	-8	comparing	the	previous	equation	with	slope	(0,	-5)	and	(-5,	-5).	The	seat	capacity	for	a
banquets	room	is	represented	by	y	=	8x	+	56,	where	x	is	the	number	of	additional	tables	you	need.	Pending	=	1,	intersection	y	=	-4	and	ã	¢	âgn	so	much,	the	intersection	is	4.	what	The	growth	rate	of	the	onsoles?	Answer:	Choosing	a	pound	of	apples	costs	$	0.75,	therefore,	x	pounds	cost	0.75	it	shows.	Choose	and	complete	a	graphic	organizer	to	help
you	study	the	concept.	Answer:	(x1,	y1)	=	(1,	3)	(x2,	y2)	=	(1,	-2)	m	=	(y2	¢	â‚¬	-y1)/(x2	ã	¢	â‚¬	"x1)	m	=	m	=	(-2	ã	¢	âgn	of	the	given	points.	Scripture	describes	two	ways	to	graph	the	4x	+	2y	=	6.	then,	they	are	not	parallel.	Your	cell	phone	can	store	2500	images.	(2,	7)	Answer:	concepts,	skills	and	resolution	of	problems	interpretation	of	the	slope	and
the	intersection	and	the	grass	and	represents	the	cost	(in	Damlares)	to	open	a	set	account	in	a	line	and	buy	X	games.	How	much	does	the	employee	win	for	working	40	hours?	The	table	Show	your	friend's	hair	growth.	There	is	any	of	the	parallel	lines?	Answer:	red	line:	(x1,	y1)	=	(-4,	1)	(x2,	y2)	=	(2,	4)	m	=	(y2	?	4))	m	=	3/6	m	=	1/2	blue	line:	(x1,	y1)	=
(-4,	-1)	(x2,	y2)	=	(2,	0.5)	m	=	(y2	¢	â	¢	‚¬:	y1)/(x2	ã	¢	âgn	4	green	line:	(x1,	y1)	=	(-2,	-4)	(x2,	y2)	=	(2,	-2)	m	=	(y2	ã	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬:	x1)	m	=	((-2	¢	â‚¬-(-4))/(2	â‚¬:	(-2))	M	=	2/4	m	=	1/2	The	red	lines	and	the	green	lines	are	parallel	because	both	have	the	same	slope	=	1/2	Question	8.	y	=	ã	¢	â‚¬	-	7x	ã	¢	â‚¬	-	1	answer:	Question	16.	The	grace	of
y	=	3.5x	translates	2	units.	(Choose	the	positive	and	negative	X	values).	Graphic	of	the	five	corresponding	solutions.	Graphic	of	a	graphic	linear	equation	of	the	linear	equation.	The	intersection	and	is	30,	which	means	that	the	dog	can	play	for	30	hours	when	no	night	spends	in	the	Number	of	hours	worked	as	server	=	$	113.40	9.45x	+	3.78y	=	113.40
x	=	0	9.45	(0)	+	3.78y	=	113.40	3.78y	=	113.40	y	=	30	when	y	=	0	9.45x	+	3.78	(0)	=	113.40	9.45x	=	113.40	x	=	12	Question	26.	Write	a	In	the	point	slope	form	that	represents	the	total	cost	paid	for	cable	television	after	x	months.	pending	=	3,	and	ã	¢	â‚¬-intercept	=	16	the	intersection	and	is	16.	interprets	the	slope	and	the	intersection	and	the	line
that	passes	through	the	given	points.	In	the	same	plane	of	coordinates,	the	graphic	equations	that	represent	the	growth	rates	of	the	ors	and	the	navigats.	Answer:	(x1,	y1)	=	(-4,	1)	(x2,	y2)	=	(2,	4)	m	=	(y2	¢	â‚¬-y1)/(x2	ã	¢	â‚¬	"x1)	m	=	m	=	(-5	ã	¢	âgn	1),	The	intersection	and	is	-1.	Y	=	\	(\	fraid	œ15.	Make	a	relationship	that	represents	a	different



relationship	of	water	in	the	water.	Modeling	of	real	life	The	amount	and	(in	Damlares)	of	money	in	its	savings	account	after	x	months	is	represented	by	the	equation	and	=	12.5x	+	100.	155.)	Question	7.	Draw	a	line	through	the	point	(-1,	2)	that	is	parallel	to	the	graph	of	the	line	in	exercise	11.	Question	2.	y	=	ã	¢	â	¢	â	¢	â	¢	‚¬	-	\	(\	fraud	{1}	{2}	\)	x
â‚¬	-	5	Answer:	Given	the	equation	y	=	ã	¢	â‚¬	-	\	(\	(\	\	fraud	{1}	{2}	\)	x	Ã	¢	â‚¬:	5	pending	=	ã	¢	â‚¬	â	€	œ	\	(\	fraud	point	that	is	2	units	to	the	right	and	1	unit	to	The	bottom	from	(0,	-5)	=	(2,	-6)	Draw	a	line	through	the	two	points.	How	many	competitions	can	you	attend?	Write	a	linear	equation	that	represents	the	monthly	gain	after	paying	the
operating	costs.	Use	the	graphic	to	find	a	third	solution	of	the	equation.	Draw	a	line	that	is	parallel	to	your	line.	What	is	the	temperature?	Wind	speed	2.	Self	-assessment	of	the	chapter	of	the	punctual	slope	as	the	exercises	complete,	use	the	scale	below	to	qualify	your	understanding	of	the	criteria	of	ã	©	xito	in	your	diary.	Percentage	of	sheets
Percentage	of	work	sheets	...	you	reflect	the	triam	on	the	X	axis.	What	is	your	initial	elevation?	Answer:	and	ã	¢	â‚¬	-7	=	4x	ã	¢	â‚¬	-4	y	=	4x	+	-4	+	7	y	=	4x	+	3	The	graceful	line	passes	through	the	points	(4,	5)	and	(5,	9)	Self	-assessment	to	solve	problems	solving	exercise.	Therefore,	the	equation	of	the	line	that	passes	through	them	is	x	=	0	question
20.	(-3,	5),	(-3,	1)	Answer:	(x1,	y1)	=	(-3,	5	)	(x2,	y2)	=	((-3,	1)	m	=	(y2	¢	â‚¬	-y1)/(x2	ã	¢	â‚¬	-x1)	m	=	(1	ã	¢	â‚¬	-5)/	In	Hours	3.6	âgn	=	15	2x	=	15	x	=	7.5	x	=	0	2	(0)	+	1.5y	=	15	1.5y	=	15	y	=	10	Question	8.	(-5,	4),	(8,	4)	Answer:	(x1,	y1)	=	In	/(8	âgn	Winds.	Write	an	equation	in	the	form	of	slope	of	the	line	that	passes	through	(-4,	1)	and	(4,	3).	Mi.	The
palm	to	the	right	has	8	years	A:	M	=	RISE/RUN	=	(10	ã	¢	â‚¬	-	5)/(6	â‚¬	-	3)	=	5/3	That	means	every	5	cups	of	flour.	There	is	an	increase	of	3	cups	of	water.	(Choose	two	X	values	​​and	find	the	values	​​y)	b.	Answer:	y	=	343	ã	£	â	€	”12	=	4116	GRISH	MEMORS	PROPORTIONAL	RELATIONSHIPS	TASK	AND	PROPERTICS	4.3	Review	and	update	Find	the
slope	of	the	line.	The	graph	shows	amounts	of	vinegar	and	water	that	can	be	used	to	make	a	cleaning	product.	y	=	\	(\	fraud	{1}	{3}	\)	x	â‚¬	-2	Answer:	Slope	=	1/3	e	and	ã	¢	â‚¬	â	€	œIntercept	=	-2	Question	13.	You	know	the	percentage	of	discount	of	Articles	in	a	retail	store.	You	are	asked	to	write	and	graph	an	equation	that	represents	the	sale
price	of	an	item	that	has	an	original	price	of	xlares.	After	3	hours,	there	are	100	boxes	in	the	truck.	What	are	the	equations	that	the	lines	represent?	What	point	is	in	the	line?	Answer:	y	=	25	£	â	€	â	€	8	Both	points	belong	to	the	Y	axis.	(1,	4)	Answer:	Question	5.	4x	+	y	=	1	Answer:	Given	the	equation	4x	+	y	=	1	y	=	-4x	+	1	Question	2.	2.	The	dog
kennel	charges	$	30	per	night	to	board	your	dog	and	$	6	for	each	time	of	play.	Graphic	of	linear	equations	on	the	slope-intersective	of	the	task	and	practical	4.4	Review	and	update	says	whether	they	are	in	a	proportional	relationship.	Answer:	m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬	-	x1)	=	(2	ã	¢	â‚¬	-	1)/(4	â‚¬	-	0)	=	1/4	because	The	line	crosses	the	y	â‚¬	axis:
(0,	1)	the	intersection	and	is	1	y	=	mx	+	b	y	=	1/4	x	+	1	Question	14.	(-3,	-1);	m	=	ã	¢	â‚¬-	\	(\	fract	=	Ã	¢	âgn	2x	=	30	x	=	15	the	x	â‚¬:	The	intercepcion	is	(15,	0)	and	¢	â‚¬:	interception:	x	=	0	2x	+	6y	=	30	2	(0)	+	6y	=	30	6y	=	30	y	=	=	5	The	intersection	and	is	(0,	5)	of	the	graph,	I	can	buy	6	point	bottles	if	I	buy	3	clay	tubs.	Number	of	hours	worked
as	anfitrión	+	$	3.78.	The	height	and	(feet)	of	a	móvil	bridge	after	©	s	of	the	increase	for	seconds	is	represented	by	the	equation	y	=	3x	+	6.	The	graph	shows	the	distance	that	an	automvile	travels.	Answer:	m	=	(y2	ã	¢	â‚¬:	y1)/(x2	‚¬:	x1)	=	(5	ã	¢	âgn	The	intercept	is	2	y	=	mx	+	b	y	=	(3)	x	+	2	y	=	3x	+	2	Question	6.	(-1,	-1),	(1,	5)	answer:	pending	(m)
=	(5	¢	¢	‚‚	¬	"(-1))/(2	ã	¢	â‚¬"	(-1))	=	(5	+	1)/(1	+	1)	m	=	6/2	m	=	3	and	ã	¢	â‚¬	"y1	=	M	(x	ã	¢	â‚¬	"x1)	and	ã	¢	â‚¬	-	(5)	=	3	(x	âgn	Doubt	about	the	chapter	that	we	are	always	ready	to	clarify	your	doubts.	Question	27.	Answer:	x	=	The	mottled	distance	(miles)	y	=	The	distance	walking	(miles)	y	=	0	16x	+	2	(0)	=	32	16x	=	32	x	=	2	x	=	0	16	(0)	+	2y	=
32	2y	=	32	y	=	16	Rewrite	an	equation	write	the	linear	equation	in	the	form	of	slope-intersective.	Answer	to.	The	resolution	of	feet	problems	grows	around	13	milléters	per	year.	Answer:	The	distance	between	you	and	your	friend	in	Initial	moment	is	B	=	15	meters.	(See	Exploration	2,	p.	13,475	hours	Answer:	70.00	h	+	49.00	=	241.50h	=	241.50	ã	¢
â‚¬	""	70h	=	192.5	h	=	2.75	hours	Therefore,	the	correct	answer	is	Opcion	A.	The	equation	of	the	line	should	be:	y	=	1/2	x	â‚¬	-	2	Not	my	friend	is	not	correct.	Graphic	and	writing	of	linear	equations	chapter	vocabulary	review	write	the	definition	and	sets	an	example	of	each	vocabulary.	The	corner	produces	five	objects	in	four	minutes.	4	times	table
work	sheets.	It	costs	$	30	to	provide	food	to	4	guests.	Different	words,	the	same	question	that	is	different?	Question	46.	Find	the	roof	tone.	Problems	to	solve	a	parachute	on	the	floor.	Answer:	y	=	x	ã	¢	âgn	Trace	the	tidy	pairs	and	draw	the	graphic.	How	many	months	are	needed	to	empty	the	landfill?	Answer:	y	=	mx	+	b	y	=	0	0	=	mx	+	b	mx	=	-b	x	=
-b/m	for	m	ã	¢	â	€	0	If	m	=	0	the	equation	has	no	solution.	In	)/((x2	ã	¢	âgn	Question	4.	Compare	and	interpret	the	inclination	of	each	of	the	graphics.	X	'(4,	-1),	and'	(2,	-3),	Z	'(-2,	-1)	C.	Each	working	sheet	It	is	in	PDF	and,	therefore,	it	can	be	printed	for	use	in	school	...	Reasoning	draws	a	line	through	each	point	using	the	slope	of	m	=	\	(\	fraud	{1}	{4}
\)	.	Proportional	relationship	4.	Answer:	Red	line:	(x1,	y1)	=	(-1,	0)	(x2,	y2)	=	(1,	-2)	m	=	(y2	ã	¢	â‚¬	"y1)/(x2	â	â	â	â	€	‚¬:	x1)	m	=	(-2	ã	¢	â‚¬"	0)/1	ã	¢	â‚¬	"(-1))	m	=	-2/2	m	=	-1	blue	line:	(x1,	y1)	=	In	¬	-3)/(1	ã	¢	âgn	=	D/12	3D	=	12	ã	£	â	€	10	3d	=	120	d	=	40	feet,	therefore,	the	correct	answer	is	the	Opcion	H.	between	the	slope	and	the	intersection
and	the	line.	y	=	4x	ã	¢	â‚¬	-	8	Answer:	y	4x	ã	¢	â‚¬	-	8	Comparison	of	the	previous	equation	with	the	slope	ã	¢	â‚¬	-	Interception	equation.	Answer:	m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬	-	x1)	m	=	(8	ã	¢	â‚¬	-	8)/(6	ã	¢	â‚¬	â	€	0)	M	=	0/6	m	=	0	We	have	to	find	the	y	ã	¢	â‚¬	"intercept"	intercept	y	=	8	when	x	=	0,	and	the	intersection	is	8.	5x	+	4y	=	20	Answer:
Given	the	linear	equation	5x	+	4y	=	20	y	=	0	5x	+	4	(0)	=	20	5x	=	20	x	=	4	x	=	0	5	(0)	+	4y	=	20	4y	=	20	y	=	5	Question	17.	Answer:	M	=	(y2	ã	¢	â‚¬-y1)/(x2	ã	¢	â‚¬:	x1)	=	(1	â‚¬-	(	-1))/(0	âgn	\	fraud	{1}	{4}	\)	Answer:	the	graph	of	x	=	\	(\	fraud	{1}	{4}	\)	is	a	vertical	line	that	passes	through	(\	(\	(\	fraud	{4}	\),	0)	Draw	a	vertical	line	through	this
point.	The	words	of	the	Dolch	Flash	view	...	The	equation	-25x	+	y	=	65	represents	the	cost	and	(in	Down)	of	the	bracelet,	where	x	is	the	number	of	charms.	Use	a	graphic	to	justify	your	answer.	You	are	the	teacher	that	your	friend	finds	the	slope	and	the	intersection	and	the	grass	of	the	equation	y	=	4x	ã	¢	â‚¬-3.	What	are	the	coordinates	of	the
image?	y	=	\	(\	fraud	{8}	{9}	\)	x	ã	¢	â‚¬:	8	Answer:	y	=	\	(\	fraud	{8}	{9}	\)	x	â‚¬	"8	y	=	mx	+	b	pending	=	\	((Fract}	{9}	\)	e	and	¢	â‚¬:	intercept	=	-8	says	if	the	blue	figure	is	a	reflection	of	the	red	figure.	What	are	the	lines	parallel?	Answer:	the	value	n	=	2	makes	sense	in	the	context	of	the	problem	because	a	polygon	has	at	least	3	sides.	Use	the
relationship	in	part	(a)	to	write	an	equation	that	relates	y,	m	and	x.	How	can	you	determine	the	total	total	cost	to	open	an	account	and	buy	6	games?	Answer:	(x1,	y1)	=	(-4,	-1)	(x2,	y2)	=	(2,	1)	m	=	(y2	ã	¢	â‚¬	-y1)/(x2	Ã	¢	â‚¬	"x1)	m	=	(1	âgn	pending	the	line	through	the	given	points.	Modeling	of	real	life	The	graph	shows	the	number	of	recipes	full	over
time	by	a	pharmacy.	Write	an	equation	that	represents	the	value	of	the	automvile	value	after	years.	Then	use	the	verbal	model	to	write	an	equation	that	relates	IONE	X	E	Y.	Then,	the	equation	is	D	=	0.4p	Question	2.	Answer:	Xã	¢	°	+	46	°	+	95	°	=	180	°	Xã	¢	°	°	+	141ã	¢	=	180	°	°	¢	°	°	=	180	°	°	¢	¢¬	"141	â	°	°	¢	°	°	=	39	â	°	Los	ã¡ngulos	del	traunglo
lipstick	39	¢	°	+	39	°	+	46	Â	°	=	180	Â	°	°	¢	°	°	+	75	Â	°	=	180	°	°	°	°	°	=	180	°	°	¢	¢¬	""	""	Yã	¢	°	=	95	°	Three	three	triples	are	39	°,	46	°,	95	°	Triangles	have	two	pairs	of	congruent	ones.	Question	48.	So	that	the	two	lines	do	not	match,	we	must	add	the	condition	that	their	interceptions.	Your	friend	calculated	the	intersection	and.	He	will	give	him
information	about	the	atmospheric	pressure	inside	a	hurricane.	Ã	¢	â‚¬	â	€	œ	\	(\	fraid	=	6	2y	=	6	+	\	(\	fraud	{1}	{2}	\)	x	y	=	0.25x	+	3	Comparing	the	value	of	bym	of	y	=	mx	+	b	m	=	0.25	and	b	=	3	grace	and	ã	¢	â‚¬	"	intercept	=	(0,	b)	=	(0,	3)	slope	=	0.25	Execute/ascend	=	0.25/1	traces	point	0.25	unit	up	and	1	unit	to	the	right	=	(1,	3.25)	Now
draw	the	points	and	draw	the	question	of	the	graph	3.	Use	the	relationship	in	part	(b)	to	write	a	related	equation	y,	m	and	x.	How	many	bottles	of	paint	can	you	buy	if	you	buy	3	clay	tubs?	Straight	angle	formed	by	drawing	a	horizontal	line	segment	from	point	A	and	a	vertical	line	-40	10x	=	-40	x	=	-4	x	=	0	10	(0)	+	8y	=	-40	8y	=	-40	y	=	-5	Question	18
Be	the	teacher	your	friend	finds	the	intersection	x	of	-2x	+	3y	=	12.	Understand	The	problem.	What	does	it	represent?	And	a	proportional	relationship	between	the	amount	of	time	that	passes	and	its	distance	from	the	lightning	as	far	away,	more	time	will	pass	until	the	sound	reaches	you.	Does	and	your	friend	started	running	from	the	same	place?
Then,	the	initial	number	of	perfume	in	storage	is	460.	What	deep	is	the	snow	every	hour	between	midnight	and	6	a.m.?	90)	2500?	Measure	your	slope.	Therefore,	the	answer	is	no.	y	=	6.75	Answer:	Question	20.	(4,	-2)	Answer:	6x	â‚¬	-5y	=	14	F.	Answer:	â‚¬	-6)/(2	âgn	(12	âgn	The	table	is	constant.	Answer:	pitch	of	the	roof	=	rise/run	=	4/12	=	1/3
Question	31.	Write	an	equation	write	an	equation	in	the	form	of	the	specific	slope	of	the	line	that	passes	through	the	given	point	and	has	the	slope	Dadaist.	Check	your	solution.	A.	The	graph	shows	the	number	of	liters	of	water	that	flow	on	an	artificial	waterfall.	Answer:	x	and	and	are	in	a	proportional	relationship	because	the	line	passes	through	the
origin.	Interpret	the	slope	and	intersection	and	line.	Answer:	(x1,	y1)	=	(-4,	-3)	(x2,	y2)	=	(-3,	2)	m	=	(y2	¢	â‚¬-y1)/(x2	ã	¢	â‚¬	â	€	x1)	m	=	(2	+	3)/(-3	+	4)	m	=	5/1	m	=	5	The	blue	line	slpe	is	5	and	the	slope	of	the	red	line	also	is	5.	Question	15.	SOLUTION	OF	Interseccion	of	the	linear	equation	of	a	linear	equation	x	-antercepe	lección	4.1	graphic
exploration	of	linear	equations	1	The	creation	of	graphics	operates	with	a	partner.	(-2,	3),	(2,	7)	Answer:	Slope	(m)	=	(7	â‚¬-	(3))/(2	â‚¬-(-2))	=	(7	â‚¬	"3)	/(2	+	2)	m	=	4/4	m	=	1	and	ã	¢	â‚¬-y1	=	m	(x	ã	¢	â‚¬-x1)	and	ã	¢	â‚¬-	(3)	=	1	(x	‚	¬	"(-2))	and	ã	¢	âgn	(2,7),	(4,	11)	Now	draw	the	tidy	pairs	y	=	2	(1.126)	+	3	=	5.252	ã	¢	â	€	ë	†	5.25	Solving	a
resolution	of	linear	equation	for	y.	How	seconds	do	the	bridge	have	a	height	of	76	feet?	After	how	many	minutes	do	you	get	to	the	bottom	of	the	slope?	Answer:	m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬:	x1)	=	(6	ã	¢	â‚¬	â	€	œ0)/(-3	â‚¬â	€	0)	=	6/-3	=	-2	because	the	line	crosses	the	y	ã	¢	â‚¬	â	€	œex	13.	Explain.	Answer:	The	value	n	=	3.5	makes	no	sense	because
the	number	of	É¡ngulos	cannot	be	more	than	a	segator	greater	than	or	equal	to	2.	Each	article	in	a	retail	store	is	for	sale	with	a	40%	discount.	2x	+	y	=	17	Answer:	Given	the	equation	2x	â	€	‹â	€‹	+	y	=	17	y	=	17	â‚¬	-2x	y	=	-2x	+	17	Question	10.	2x	+	3x	=	10	Answer:	given	2x	equation	â	€	‹â	€‹	+	3x	=	10	5x	=	10	x	=	10/5	x	=	2	Question	5.	m	=	k	+	7
B.	y	=	11	+	1.5x	Answer:	y	=	mx	+	b	and	y	y	1.5x	+	11	pending	=	1.5	e	and	ã	¢	â‚¬	-Intercept	=	11	Question	23.	The	reasoning	makes	points	A	(-2,	-1),	B	(1,	5)	and	C	(4,	11)	are	found	in	The	same	line?	(-2,	-3)	H.	Who	tells	you	the	graph	about	your	text	message	plan?	What	can	you	determine	on	the	inclination	of	each	line?	179.)	Question	6.	Determine
and	for	x	=	10	so	that	it	costs	$	75	to	provide	food	to	10	guests.	Answer:	Given,	line	in	line	from	an	elevation	of	720	feet	to	an	elevation	of	750	feet	in	30	minutes.	Excavar	more	deep!	The	palm	to	the	left	has	10	years.	(4,	-4),	(K,	-1);	m	=	\	(\	fraud	{3}	{4}	\)	Answer:	\	(\	fraid	4)	4	=	k	ã	¢	â‚¬	â	€	œ4	k	=	4	+	4	k	=	8	Question	36.	141	â‚¬â	€	œ	146)
Learning	objective:	GRAL	LINEAR	EQUATIONS.	The	linear	equation.	Make	a	plan.	And	ã	¢	â‚¬	â	€	œ6	=	\	(\	fraud	)	x	y	=	\	(\	fraud	exterior	of	a	polygon	with	sides	n	is	s	=	360	°.	Answer:	y	=	0.25x	m	=	(1.4	â‚¬	-	0.7)/(2	â‚¬:	1)	m	=	0.7	y	=	0.7x	because	0.7>	0.25,	the	uã	±	as	growly	grow.	What	are	the	coordinates	of	Point	M	â‚¬	â	„¢,	the	image	of	the
point	after	the	rotation?	It	costs	$	120	per	month	to	operate	the	website.	There	is	an	example	of	a	definition	graph	and	example	for	the	linear	equation	of	vocabulary.	?	?	\	fraud	{1}	{8}	\)	y	=	\	(\	fraid	¬:	intercept	=	6	so	plot	(0,	6)	pending	=	ascend/run	=	4/1	traces	the	point	that	is	1	unit	to	the	right	and	4	units	above	(0,	6)	=	(1,	10)	Question	38.	The
writer	has	a	total	of	45	hours	to	finish	the	project.	Graphic	of	a	proportional	graph	of	equation.	Multiply	each	side	of	its	equation	in	part	(a)	by	the	expression	in	the	denominator.	Graph	the	equation	that	chose	in	part	(a).	CRITICAL	THOUGHT	Consider	the	distance	equation	d	=	RT,	RT,	D	is	the	distance	(in	feet),	r	is	the	speed	(in	feet	per	second)	and	t
is	the	time	(in	seconds).	Question	30.	15x	ã	¢	âgn	¢	âgn	0.005x	ã	¢	âgn	120	x	=	24000	x>	24,000	lesions	4.5	graphic	of	linear	equations	in	the	exploration	of	a	manner	1	using	interceptions	work	with	a	partner.	It	begins	to	snow	at	midnight	in	the	city	A	and	the	city	B.	Question	37.	5x	5x	âgn	and	ã	¢	â‚¬:	interception:	x	=	0	5x	ã	¢	â‚¬	-y	=	10	5	(0)	ã	¢
â‚¬	-y	=	10	-y	=	10	y	=	-10	the	y	ã	¢	â‚¬	â	€	œThe	interception	is	(0,	-10)	Question	14.	Answer:	(0,	15),	(3,	45)	M	=	(45	â‚¬	-15)/(3	â‚¬-	0)	M	=	30	/3	10	Therefore,	the	slope	of	the	line	is	m	°	âses	Ã	¢	âgn	}	{5}	\)	ã	¢	â‚¬	â	€	œ	\	(\	fract	-2	=	-7	ã	¢	âgn	If	you	want	to	be	a	member	for	a	year,	what	plan	is	less	expensive?	Write	an	equation	of	the	line.
Question	29.	Answer:	Given,	the	seat	capacity	for	a	banquet	salon	is	represented	by	y	=	8x	+	56,	where	x	is	the	number	of	additional	tables	it	needs.	Make	a	relationship	that	represents	a	different	relationship	of	water	vinegar.	y	=	0.8x	ã	¢	âgn	,	11)	mab	=	(5	â‚¬:	(-1))/(1	â‚¬-(-2))	=	6/3	=	2	MBC	=	(11	â‚¬-5)/(4	â‚¬	:	1)	=	6/3	=	2	When	we	see	the	clues
we	can	say	that	points	A,	B,	C	are	in	the	same	line.	Writer	ends	a	project	that	began	a	work	Company	at	a	speed	of	3	pages	per	hour.	Then	find	the	slope	of	the	line.	Here	students	can	get	the	best	study	material	to	practice	in	a	correct	way.	Writing	equations	in	the	slope-intersective	form	task	and	practical	4.6	Review	and	update	Write	the	linear
equation	in	the	form	of	slope-intersective.	155	"160)	Learning	objective:	proportional	relationships	of	graphics.	You	have	$	30	to	spend	on	paint	and	clay.	Identify	the	slope	and	intersection	and	find	the	slope	and	intersection	and	the	grass	of	the	linear	equation.	=	-4x	+	8	answer:	y	=	-4x	+	8	pending	=	-4	e	and	¢	â‚¬:	intercept	=	8	so	plot	(0,	8)	slope	=
ascent/run	=	-4/1	traces	the	point	that	is	1	Right	unit	and	4	units	down	(0,	8)	=	(1,	4)	The	line	crosses	the	X	axis	in	(2,	0)	so	the	intersection	x	is	2.	y	=	7.5	ã	£	â	€	€	”10	and	=	75	c.	Y	=	mx	+	b	y	=	-3/2	x	+	1	Quest	‚¬"	2)/(0	âgn	mx	+	b	y	=	-1/2	x	+	4	Question	41.	What	is	the	daily	rate?	The	crew	builds	\	(\	fraud	{1}	{2}	\)	of	a	mile	per	week.	Write	and
graph	an	equation	for	distance	and	(in	meters)	that	your	friend	is	ahead	of	you	after	x	minutes.	Therefore,	the	equation	y	=	b	does	not	have	x	"intercepcion.	‚¬	-	6	The	way	of	the	equation	is:	ax	+	by	=	c	The	given	equation	is	not	in	the	way.	161.)	Question	9.	(3,	2)	Answer:	M	'(-3	,	-2)	Therefore,	the	correct	answer	is	Opcion	F.	mm	Question	32.	Think	of
what	each	minus	could	mean	and	record	your	thoughts.	Write	an	equation	in	the	form	of	intersection	of	the	slope	that	represents	the	length	(represents	the	length	(	at	the	feet)	of	a	constrictor	boa	that	has	x	years.	(750	â‚¬	-	720)/30	=	30/30	=	1	ft/min	(690	âgn	feet/min	pending	a	line	of	line	and	practice	4.2	and	update	the	linear	linear	equation.	y	=	x
ã	¢	â‚¬-7	Answer:	the	line	crosses	the	x	axis	in	(7,	0)	then,	the	intersection	x	is	7.	Therefore,	the	number	of	perfume	bottles	decreases	with	20	bottles	for	months.	y	=	ã	¢	âgn	and	ã	¢	â‚¬	"intercept	=	-2	Question	17.	(4,	Ã	¢	â‚¬	-2)	2)	B	(-9,	3)	A	(4,	-2)	=	A	'(4	¢	â‚¬	-13,	-2)	=	(-9,	-2)	A'	(-9,	-2)	=	B	(-9,	-2	+	4)	=	(	-(	-9,	3)	concepts,	skills	and	problem
solving	the	creation	of	graphics	makes	a	graph	of	the	situation.	Answer:	b.	These	are	called	solutions	of	The	equation.	=	6	x	+	3	(0)	=	6	x	+	0	=	6	x	=	6	The	x	â‚¬:	The	interposition	is	(6,	0)	and	â‚¬	"intercepcion:	x	=	0	x	+	3y	=	6	0	+	3y	=	6	y	=	2	la	and	â‚¬:	The	interposition	is	(0,	2)	self	-assessment	for	concepts	and	skills	solves	each	exercise.
Answer:	and	ã	¢	â‚¬	-	y1	=	m	(x	ã	¢	â‚¬	-	x1)	M	=	29.95	and	ã	¢	â‚¬	-	214.70	=	29.95	(x	â‚¬	"6)	and	¢	â‚¬	-	214.70	+	214.70	=	29.95x	ã	¢	â‚¬"	179.97	+	2147.70	y	=	29.95x	+	35	B	35	B	=	35	Question	52.	GRANFIC	THE	US	EQUATION	I	am	the	form.	2.	How	much	money	are	they	spent	in	total?	(4,	-1),	(-2,	-1)	Answer:	(x1,	y1)	=	(4,	-1)	(x2,	y2)	=	(-2,	-1)
m	=	(y2	ã	¢	â‚¬	"y1)/(x2	ã	¢	â‚¬-x1)	m	=	(-1	ã	¢	â‚¬-(-1))/(-2	ã	¢	â‚¬-4)	m	=	0/-6	m	=	0	Question	16.	Basic	physical	graphic	unit	II	cinemal	to	the	classroom	of	content	of	the	course	...	Is	the	relationship	proportional?	How	much	does	the	installation	rate	cost?	S	Hondo!	You	and	your	friend	begin	to	run	on	a	path	to	different	constant	speeds.	After	1
minute,	your	friend	is	45	meters	ahead	of	you.	Interpret	the	interceptions.	1	min	30	seconds	=	(60	+	90	)	3	seconds	=	90	seconds	2500	âgn	}	{4}	\)	Answer:	Given	the	equation	5x	ã	¢	â‚¬	"y	=	\	(\	fract	‚¬"	5x	y	=	5x	ã	¢	âgn	1.25)	c.	The	intersection	and	â‚¬	"shows	the	interception.	The	paratrooper	begins	his	3000	feet	diving.	/run	=	-2/1	traces	the
point	unit	1	to	the	right	and	2	units	downstairs	(0,	8)	=	(1,	6)	Then,	the	intersection	x	is	4.	Write	an	equation	write	an	equation	of	the	line	that	passes	through	(0,	-5)	and	(2,	-5).	pending	parallel	lines	3.	(7,	0);	M	=	1	answer:	and	ã	¢	â‚¬	-	y1	=	m	(x	ã	¢	â‚¬	-	x1)	and	ã	¢	â‚¬	â	€	œ0	=	1	(x	ã	¢	â‚¬	-	(7))	Ã	¢	â‚¬â	€	œ	0	=	1	(x	ã	¢	âgn	For	wheelchairs	they
suggest	that	the	relationship	with	the	rise	to	the	race	is	not	greater	than	1:	12.	How	much	does	it	cost	to	provide	food	to	10	guests?	Then	x	and	y	are	not	proportional.	Â	¡¡Hello	students	!!!	Are	you	looking	for	the	solution	of	mathematics	Big	Ideas,	the	8th	grade	solution,	chapter	4,	graphics	and	writing	linear	equations	on	several	websites?	Answer:
No,	my	friend	has	no	reason	because	the	denominator	must	be	2	â‚¬	-	4	(x1,	y1)	=	(2,	3)	(x2,	y2)	=	(4,	1)	m	=	(y2	ã	¢	â	‚‚	¬	-y1)/(x2	ã	¢	âgn	What	lasses	are	parallel?	They	rent	a	boat	for	x	days	and	diving	equipment	for	people,	represented	by	the	equation	Table	work	71	74	5	254	6.	KLMN	Trapezoid	is	graphic	in	the	coordinate	plane	shown.	Answer:	y
=	8x	Question	23.	Work	with	a	partner.	How	much	does	the	depth	of	the	lake	increase	in	four	years?	Geometric	the	sums	of	the	measures	of	the	inner	part	of	a	polygon	with	n	sides	are	s	=	(n	ã	¢	â‚¬	-	2)	ã	¢	â‚¬	â	¢	180	°.	Identify	the	slope	and	intersection	and.	X	'(4,	1),	and'	(2,	3),	Z	'(-2,	1)	B.	Part	B	Explain	what	the	slope	represents.	After	3	hours,
25%	of	the	project	is	complete.	Repeat	the	part	(a)	for	Townb,	which	has	4	inches	of	snow	on	the	ground	at	midnight.	Precision	plot	the	two	solutions.	Can	you	use	these	number	to	graph	your	equation	of	the	part	(a)	in	the	of	coordinates?	Why	is	it	ã	ostil	predicting	how	strong	the	winds	of	a	hurricane	will	be?	Concept	of	proportion	ã	¢	â‚¬	â	€	How	to
solve	solve	Pending	=	-1	e	and	ã	¢	â‚¬:	intercept	=	-8	pending	=	elevar/run	=	-1/1	traces	the	point	that	is	1	unit	to	the	right	and	1	unit	down	(0,	-8)	=	(1	,	-9)	the	line	crosses	the	X	axis	in	(-8,	0)	then,	the	interception	is	-8.	Answer:	m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬	-	x1)	=	(1	ã	¢	â‚¬	-	1)/(3	â‚¬	-	0)	=	0/3	=	0	because	the	line	crosses	the	y	ã	¢	âgn	.	Of	the
given	equations,	the	one	that	has	the	slope	-3	is	y	=	-3x	+	5,	therefore,	the	correct	answer	is	the	H.	GRANFIC	OF	FOUR	POINTS	(N,	S)	that	satisfy	the	equation.	Another	friend	gives	you	an	amount	per	mile.	The	escape	shows	after	two	weeks.	Answer:	M	=	(y2	ã	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬:	x1)	=	(-3	ã	¢	â‚¬	"(-4))/(0	ã	¢	â‚¬"	(	-3))	=	1/3	because	y	=	--------------
---------	3	when	x	=	0,	the	intersection	and	is	-3	y	=	mx	+	B	y	=	1/3	x	ã	¢	â‚¬	-3	Question	16.	Answer:	m	=	(y2	¢	â‚¬	"y1)/(x2	ã	¢	â‚¬")	m	=	(-2	ã	¢	â	‚‚	¬	-1)/(2	â‚¬:	0)	â	€	‹â	€‹	M	=	-3/2	We	have	to	find	the	intersection	and	because	y	=	1	when	x	=	0,	the	y	â‚¬:	interception	is	1.	Answer:	Pending	(m)	=	(-2	¢	â‚¬	-1)/(5	ã	¢	â‚¬	-3)	=	-3/2	m	=	-1	and	ã	¢	â‚¬	-
y1	=	m	(x	âgn	y	+	5	=	-3/2	x	+	21/2	y	=	-	-	3/2	x	+	11/2	Question	10.	Answer:	The	slope	indicates	that	the	unit	cost	is	$	5	per	ticket.	Question	23.	Answer:	Determine	y	for	x	=	40:	y	=	9.5x	y	=	9.5	(40)	=	380	Question	9.	Answer:	Dada,	18x	+	15y	=	90	15y	=	-18x	+	90	y	=	-6/5	x	+	6	The	intersection	x	is	5	and	shows	that	5	gallons	of	blue	paint	can	be
purchased	when	gallant	of	white	pants	are	not	bought.	Question	18.	Question	39.	Structure	Determine	if	the	equation	is	in	a	way.	If	the	value	of	B	changes,	it	means	that	it	affects	where	the	grass	crosses	the	y	axis.	Write	an	equation	that	represents	the	total	rate	and	(on	the	day)	the	veterinary	charges	for	a	visit	that	lasts	x	The	grass	of	y	=	-5x
translates	down	3	units.	Question	28.	We	make	you	understand	the	concept	of	drawing	the	graphics	with	linear	equations.	Pending	=	1	1	and	ã	¢	â‚¬	â	€	œIntercept	=	12	so	plot	(0,	20)	only	=	rise/run	=	1/1	draws	the	point	that	is	1	unit	to	the	right	and	1	unit	above	(0,	12)	=	(	1,	13)	The	and	ã	¢	â‚¬	"intercept	is	12,	so	the	initial	cost	of	the	admission	is
$	12.	Explain	its	form	choice.	The	equation	shows	that	the	slope	M	is	1.25.	Answer:	40%	=	0.40	and	to	find	a	percentage	of	a	number	that	multiplies	the	number	by	the	percentage	in	a	decimal	form.	Question	34.	Graphing	and	Writing	Linear	Equations	Cumulative	Practical	Question	Question	1.	Write	an	equation	that	represents	the	height	of	a	palm
tree	in	terms	of	his	age.	y	=	ã	¢	â‚¬	-	\	(\	fraid	+	1	Comparison	of	the	previous	equation	with	slope	ã	¢	â‚¬	â	€	2x	equation	â	€	‹â	€‹+	6y	=	30	represents	this	situation,	where	x	It	is	the	number	of	paint	bottles	and	is	the	number	of	clay	baaves.	After	3	years,	the	car	is	worth	$	18,000.	Real	-life	modeling	The	equation	y	=	2x	+	3	represents	the	cost	and
(in	dólares)	of	sending	a	package	that	weighs	x	pounds.	Design	a	wheelchair	ramp	that	provides	access	to	a	building	with	a	main	door	that	is	2.5	feet	on	the	sidewalk.	Now	he	has	$	175	in	his	savings	account.	A	customer	pays	an	initial	rate	and	a	daily	rate	to	rent	a	snow	motorcycle.	Answer:	The	value	of	B	is	the	intersection	and	the	graphic.	Answer:
m	=	(y2	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬-x1)	m	=	(1	ã	¢	â‚¬	â	€	œ	(-2))/(3	â‚¬â	€	œ	0)	m	=	(1	+	2)/(3	ã	¢	ã	¢	â‚¬	âgn	dice	has	the	slope	given.	y	=	mx	+	b	y	=	1/2	x	+	5	Question	2.	The	ramp	the	guidelines?	Write	an	equation	that	represents	the	graph.	Answer:	The	average	growth	rate	is	15/12	=	1.25	cm/month	The	slope/growth	rate	for	your	friend	is	?	.	Ã	¢	â‚¬
â	€	œ	\	(\	fraid	2y	=	7	y	=	\	(\	(\	(fract	{1}	{4}	\)	x	+	\	(\	fraud	{7}	{2}	\)	Slope	=	\	(\	fraud	{1}	{4}	\)	E	and	‚¬"	intercept	=	\	(\	fraud	{7}	{2}	\)	graph	of	the	linear	equation.	Answer:	ã	¢	â‚¬â	€	œ	\	(\	fraud	{2}	{3}	\)	x	+	y	=	0	y	=	\	(\	fraud	{2}	{3}	\)	mx	+	b	m	=	\	(\	fraud	{2}	{3}	\)	and	b	=	0	grace	and	ã	¢	âgn	{2}	{3}	\)	Run/rise	=	\	(\	fraud	the
question	of	the	graph	4.	y	=	\	(\	fraud	{2}	{3}	\)	x	â‚¬	?	\	(\	fraud	{2}	{3}	\)	x	+	1	pending	=	ã	¢	â‚¬	-	\	(\	fraud	Graphic	of	the	linear	equation.	(6	ã	¢	âgn	So	much,	the	graph	does	not	pass	through	the	origin.	But	the	problem	is	that	it	cannot	have	a	fraction	for	the	coefficient,	which	is	why	to	double	all	the	coefficients	will	help	it	to	balance	the	...	Draw
a	graph	that	shows	the	value	of	the	automobile	after	the	time	.	GRANFICAL	ORGANIZERS	CAN	USA	A	GRANFIC	OF	DEFINITION	AND	EXAMPLE	TO	ORGANIZE	INFORMATION	ON	A	CONCEPT.	Answer:	Determine	the	slope	of	the	line	using	two	points	in	the	table:	(2,	1),	(4,	2)	m	=	(2	â‚¬:	1)/4	ã	¢	â‚¬	-	2	m	=	1/2	M	=	0.5	This	means	that	every
month	the	hair	grows	0.5	inches	as	the	hair	grows	0.5	inches/	month,	it	will	have	4	inches	long	after	4/0.5	=	8	months.	He	qualifies	his	understanding	of	the	criteria	of	ã	©	xito	in	his	diary.	Answer:	M	=	(y2	ã	¢	â‚¬:	y1)/(x2	ã	¢	â‚¬	-	x1)	=	â‚¬	-	1.5)/(2	ã	¢	âgn	¬	-	(1.5)	=	2	(x	ã	¢	âgn	.	Write	an	equation	in	the	form	of	slope-intersective	of	the	line	that
passes	through	the	given	points.	Answer:	The	value	of	It	is	the	slope	of	the	graph.	Real	-life	modeling	A	constrictor	boa	has	18	inches	long	at	birth	and	grows	8	inches	by	year.	Then,	the	table	represents	a	proportional	relationship	y	=	1/3	x	Question	13.	Write	an	equation	that	relates	y,	m,	x	and	b.	The	founders	grow	at	the	same	pace.	147	"154)
Learning	objective:	Find	and	interpret	the	slope	of	a	line.	The	slope	7.5	represents	the	unit	cost	for	a	guest.	Estimate	the	height	and	(on	feet)	of	each	É¡RBol.	The	equation	y	=	15x	+	20	represents	The	cost	(in	Dólares)	of	a	membership	in	the	gym	after	x	months.	Look	at	the	video	Steam	"Hurricane!"	And	then	answer	the	following	questions.	Pending
=	4	e	and	ã	¢	â‚¬:	intercept	=	-8	pending	=	elevar/run	=	4/1	=	4	traces	the	point	that	is	1	unit	to	the	right	and	4	units	above	(0,	-8)	=	(1,	-4)	Question	27.	Is	the	equation	a	linear	equation?	How	many	friends	can	go	to	dive	if	they	rent	the	boat	for	1	day?	What	do	they	represent	in	this	situation?	The	equations	below	represent	the	depth	and	(in	inches)
of	the	snow	x	hours	after	midnight	in	midnight	in	The	city	C	and	the	city	D.	If	it	is	so,	write	an	equation	that	represents	the	relationship.	How	much	does	a	bracelet	with	three	charms?	Answer:	Y	=	18x	(0,	0),	(2,	50)	m	=	(50	â‚¬	"0)/(2	â‚¬"	0)	M	=	50/2	m	=	25	25>	18	Therefore,	the	automvile	has	a	better	mileage.	147.)	Question	7.	Answer:	The	blue
figure	is	not	a	reflection	of	the	red	figure	because,	for	example,	the	reflection	of	the	top	of	the	leg	of	the	upper	part	of	the	leg	of	the	red	triangle	through	the	Axis	and	is	the	upper	voyage	of	the	blue	triangle,	it	is	not	a	point.	In	)/((x2	ã	¢	âgn	Fico	of	y	=	5	is	a	horizontal	line	that	passes	(0,	5)	draws	a	horizontal	line	through	this	point.	-4x	2y	=	8	Answer:
-4x	+	2y	=	8	2y	=	8	+	4x	y	=	2x	+	4	pending	=	2	e	and	ã	¢	â‚¬	"intercept	=	4	so	plot	(0,	4)	slope	=	elevar/run	=	2/2	/	1	trace	the	point	that	is	1	unit	to	the	right	and	2	units	above	(0,	4)	=	(1,	6)	6)	36.	(1,	2);	M	=	-4	Answer:	and	¢	â‚¬	-y1	=	m	(x	ã	¢	â‚¬	-x1)	and	ã	¢	â‚¬	-2	=	-4	(x	ã	¢	â‚¬	-(1)	and	?	œ4y	=	-12	3x	ã	¢	âgn	Intercept:	x	=	0	3	(0)	ã	¢	â‚¬	â	€
œ4y	=	-12	-4y	=	-12	y	=	3	la	and	ã	¢	â‚¬:	The	interception	is	(0,	3)	Question	21.	X	ã	¢	âgn	9,	0)	and	â‚¬	"interception:	x	=	0	0	for	the	resolution	of	problems	to	solve	each	exercise.	y	=	x	ã	¢	â‚¬	-	4	Answer:	y	=	x	ã	¢	â‚¬	-	4	comparison	of	the	previous	equation	with	the	slope	ã	¢	â‚¬	-	interception	equation.	y	=	\	(\	fraud	{2}	{3}	\)	Answer:	the	grace	of	y
=	\	(\	fraud	(\	fraud	{2}	{3}	\))	Draw	a	horizontal	line	through	this	point.	The	slope	shows	that	every	second	the	paratrooper	descends	10	feet.	Use	the	table	to	describe	the	slope	of	the	grass	new	relationship.	F.	Identify	proportional	relationships	says	if	it	is	in	a	proportional	relationship	and	is	in	a	proportional	relationship.	If	the	value	of	m	changes,	it
means	that	the	slope	of	the	graph	is	changing,	If	it	will	increase	or	fall	from	the	left	or	right	depends	on	the	value	of	m.	Y	=	8x	Answer:	Question	6.	Answer:	Pruéalo	Question	1.	A	storm	dissipates	as	it	travels	on	Earth.	The	upper	part	of	the	mountain	is	5500	feet	above	you.	Identify	the	intersection.	Answer:	y	=	4x	ã	¢	âgn	¢	âgn	?	¬	=	2ã¯	â‚¬	=	841.95
sq.	The	distance	and	(in	miles)	that	run	after	weeks	is	represented	by	the	equation	y	=	8x.	Load	boxes	in	an	empty	truck	at	a	constant	speed.	Answer:	From	the	table	we	find	that	for	each	increase	of	7	flour	cups	there	is	an	increase	in	cups	of	water.	How	many	objects	produce	the	corner	in	an	hour?	Write	the	two	pairs	ordered	by	the	table.	Reasoning
the	amounts	and	are	in	a	proportional	relationship.	y	=	2x	+	8	Answer:	The	line	crosses	the	x	-axis	â‚¬:	axis	in	(-4,	0)	then,	the	intersection	x	is	-4.	And	ã	¢	â‚¬	"\	(\	fraud	{1}	{6}	\)	x	+	5	=	0	\	(\	fraud	{1}	{6}	\)	x	â‚¬"	y	=	5	Question	9.	A	total	of	120	boxes?	Answer:	(x1,	y1)	=	(-1,	-4)	(x2,	y2)	=	(0,	-1)	m	=	(y2	¢	âgn	x1)	m	=	(-1	ã	¢	â‚¬	â	€	œ	(-4))/(0	â‚¬-
(-1))	M	=	3/1	m	=	3	Write	an	equation	in	the	form	of	slope-intersective	the	line	that	passes	through	the	given	points.	161	â¬	â	€	œ166)	Learning	objective:	GRISHING	LINEAR	EQUATIONS	IN	THE	SENSE-INTRASECCIÓN.	The	equation	x	+	y	=	60	represents	this	situation,	where	x	is	the	time	(in	minutes)	that	passes	by	gathering	a	bird	house	and	is
the	time	(in	minutes)	that	happens	writing	a	role.	And	ã	¢	â‚¬	â	€	œ	\	(\	fraid	The	way	is.	(1,	3),	(5,	K);	M	=	2	Answer:	A	(1,	3)	B	(5,	k)	m	=	2	2	=	(k	ã	¢	â‚¬	-	3)/(5	ã	¢	â‚¬	-	1)	2	ã	£	â	€	=	K	ã	¢	â‚¬	â	€	œ3	8	=	k	ã	¢	â‚¬	â	€	œ3	k	=	8	+	3	k	=	11	Quest	Sor?	The	table	shows	the	amounts	(in	tons)	of	waste	that	remain	in	a	landfill	after	x	months	of	waste
relocation.	Answer:	Question	3.	Question	32.	The	wheel	has	photos	of	the	tadpoles	of	the	Renacuos	of	the	Renacuajos	of	the	eggs	with	the	rebirth	of	the	arms	...	The	snow	falls	at	a	speed	of	1.5	inches	sper	hour.	Estimate	your	distance	from	lightning.	Real	life	modeling	A	Charm	bracelet	costs	$	65,	more	25	for	each	charm.	(10,	4),	(4,	15)	Answer:	(x1,
y1)	=	(10,	4)	(x2,	y2)	=	(4,	15)	m	=	(y2	ã	¢	â‚¬	"y1)/(x2	Ã	¢	âgn	It	is	50	miles	per	hour	when	the	eye	A	hurricane	is	140	miles	away.	Identify	the	intersection	x.	y	=	mx	+	b	y	=	-4/3x	ã	¢	â‚¬	â	€	œ1	Question	10.	y	=	mx	+	b	y	=	2/3	x	+	1	Question	26.	Answer:	(x1,	y1)	=	=	(-2,	3)	(x2,	y2)	=	(3,	(3,	m	=	(y2	¢	â‚¬:	y1)/(x2	¢	â‚¬	-x1)	m	=	(2	-3)/(3	â‚¬	-(	-2))	M
=	-1/5	For	the	So	much,	pending	=	-1	Question	2.	It	will	not	be	a	bottle	of	perfume	in	storage	in	23	months.	Answer:	x	=	5.5	¢	â‚¬	â	€	œ0	=	5.5	thousand	feet	y	=	-3.5x	=	-3.5	(5.5)	=	-19.25	74	ã	¢	â‚¬	-19.25	=	54.75	°	F	Question	19.	Answer:	Given,	a	subscription	for	life	to	a	website	costs	$	250.	This	can	be	modeled	at	70.00	h	+	49.00	=	241.50,	where
H	represents	the	number	of	hours	for	repair.	Answer:	(x1,	y1)	=	(-2,	3)	(x2,	y2)	=	(0,	4)	m	=	(y2	ã	¢	â‚¬-y1)/(x2	ã	¢	â‚¬	â	€	x1)	M	=	(4	â‚¬â	€	œ	3)/(0	ã	¢	â‚¬-(-2))	M	=	1/2	Question	17.	B	=	15	The	slope	represents	the	cost	of	a	game,	while	the	intersection	And	it	is	the	cost	of	opening	the	game	account.	A	meconic	charges	a	diagnostic	rate	more	than	an
hourly	rate.	Answer:	Total	rate	=	fixed	charge	+	number	of	hours.	In	)/((x2	ã	¢	â‚¬:	x1)	m	=	(5	¢	â‚¬:	1)/(-1	+	3)	m	=	4/2	m	=	2	Question	19.	(-2,	1),	(3,	-4)	Answer:	Pending	(m)	=	(-4	ã	¢	â‚¬	-1)/(3	â‚¬	-(	-2))	=	-5/5	m	=	-1	and	ã	¢	â	‚	¬	-y1	=	m	(x	â‚¬	â	€	œx1)	and	ã	¢	â‚¬	-1	=	-1	(x	â‚¬:	(-2))	and	ã	¢	â‚¬	-1	=	-1	(x	x	+	2)	and	ã	¢	â‚¬	â	€	œ1	=	-x	ã	¢	â‚¬	-2
y	=	-x	ã	¢	â‚¬â	€	œ	1	Question	5.	LECCIÓN	4.4	GRANFIC	OF	LINEAR	EQUATIONS	IN	THE	SOULD	-Internation	of	exploration	1	deriving	an	equation	work	with	a	partner.	Do	you	think	it	is	true	that	any	point	in	the	line	is	a	solution	of	the	equation	y	=	\	(\	fraud	{1}	{2}	\)	x	+	1	?	Answer:	m	=	3	y	=	3x	+	b	b	+	9	=	25%(200)	b	+	9	=	0.25	(200)	b	+	9	=
50	b	=	50	â‚¬	"9	b	=	41	y	=	3x	+	41	y	=	=	3x	+	41	y	=	3	(45)	+	41	=	176	pages	like	176
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